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Q.2 a. Explain the scope of variables with an example. 6)
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b. Briefly explain dynamic memory allocation. 6)
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c. Write a recursive program to find the sum of all even numbers from 1 to n. (4)

Q.3 a. When do you use a structure? Define a structure data type called time_struct
containing three members, integer hour, integer minute and integer second.
Develop a programme that would assign values to the individual members and
display the time in the following from: 16:40:51 )]
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b. Give the details of memory allocation to the following structure: A3
Struct address
{
Street char [30];
City char [30];
State char [30];
}
Struct employee
{
name char [30];
salary float;
struct address adr 1;
}
Struct Empolyee Employee 1;
Answer:
U )( ({‘t"( 1)
Aoca tr o o e

& /( L,L-/‘):—C\ja 63-/[“

ble oo

= " 1 P I e o W)
o /;,,7;)/ o gt . =
&5 o 57 mﬂ 618\/5?
:3 L' acy( ()1 >TeVD . _:';.fk\l = Q—.t_ ]
¢ T < :
6 Y S
2 5 ! ¢ Fade
1 4

/t 4 3 (-\.( j\ ; : /; 5 Al e Lf( . (

(3 5 ny 33X

c. List out the different types of files and explain major operation that can be
performed on them. 5)

Answer:

© IETE 5



DC54/DC104 DATA STRUCTURES | JUN 2015

A~ Eé,f.g As o Hﬂm C)V{",}J':w_'f rohose. 'I"*z‘ 1 e
n.\D\_Ej J-:_)q: i{j}-—ﬁ ol E;Zﬂ'ﬂ fon 5 Pl j&éﬂ 4 g ﬂi o
fMg""‘ﬁ“* .hu,_]:u:ruﬁ-l!:-:h ~fo r_ﬂ-ﬂaj:l_—én_ﬂ J"'( bo e conne
b Seadid ‘e Seiocdosy Siwsagr clisdet.
d_lr-‘-j};}m Q’% :‘El"lm

t_;“(_' rE,-'Jﬁ_‘ mﬁ'\” %—)lé’ :

Dénecd - alcemr "i‘llle o Srdeped Segpantad YL;J""

'; ! "Ijid I::Lg'«—o(_

7.
open _@ng.hﬁ-ami' cokben
(7 ih ot sequiovd D 5
C}fﬂw C')Ptia]-_wsn ﬁq%"’m}fﬂ A erm
1) rovo~e Lins ‘%;?J?'
(2) Acwrr ook elling o bdBm Lt flle 1y Ap ke
@ Peovel \1_‘?{ Saookinyg 0¥ b-ﬁw'h'r:f_

c 2{5’!‘% /& Jo ke vied
i @jpe;ud_ The

e d e—ocle. Ren Ll roud anig
L v e ~edt .a(} e Asle enisla , thap
._71?-1.3_ ey e Aedd. aadh e -{j{ie i:mia'lT'ﬁm. J,G.‘,\wj.,,;,
o e gr steshg o) T Yl

.le AL A

Ty oowh AL

o

. - showlal odi
2 e olnen Aalt emish T 0= s
a4 'ﬁ‘ \ nd T oiLen raee .
s =R il

. M 20 FALL ﬁ;ﬂﬁlmﬁﬂh ;‘";1::/\:, 31\1_:1
h_ﬁﬁ; L _é»,l' e Kﬂf;wﬂm,d Ao T (_-f{w:_';mz-af
ez £ bt

v ﬂj‘u @éj"_p ; 7}1'{ = CAF ?ga”’\t’ »-ﬁx'éﬂ}-aﬁ'? aﬁi
% Jvﬂ(’;ﬁ'ﬂﬂ ’.ff}t""f (pr’)/ vl ’F,P

5!'_ o i

/s X j{'-".-'rﬂ As Lqﬁ');'}};ﬁrx ‘{d‘}y F‘J}‘f{a’;’ ke ’?"_3(4«31 I.. ..-' 5
_rti Fa lf'x’_l.l’)ﬂ _J":l e

ol tan: 70 Semng b5 peeplt Lot S MI“M

) y?w
c o vicls

© IETE 6



DC54/DC104 DATA STRUCTURES | JUN 2015

LD 2 Je Oppethohvrn ! TALs

C}DC%LZEM . 5&14 T
727 &P (Zg{/)")j nalial /) D0 ghan  voliable
COr—20ra~78 Crecaliol

Cean>e _F /DO_%//D'CJ/) :
=

COr tetn {o ZSL
7L'D L7 Are \

liecic o L

O orary ogl_
OZ/DU/‘ CE L. ) =
=y o
e s %/e

a3
/D}xoul-dm‘ = E/u/\cﬁ'ah
.//9 £ \#‘je

DI /g'f»-e

e z/ﬂ'/_afof/

Ty C,/M.,/
Ao be 25 Her

close ©pai 2 4704

C)/)é’j“t o s ~f

7 AAS

: &//y)’f’tm Tial i

SISO o
e S nfrrod L FOrIHE

@/Mo/o 0 ﬁélxc)J e i

%ﬁ/e Can Hbe Sifact .f.
cnd Thotr i/ car otelboa.
IS eof 710/ 7 7’-,'/ o
7?\.1 <g‘)(j€ 9-6 ./u_)‘-c)«.ljy 9 L/'& & /,O &-ep/ /‘/-ry) 1= (J’)‘% C»OLQM
2L /‘D But)gia«_ym - e e neales  exs A £t
7y =
D/?é,{) g O/Qe-/a/ﬁ)ﬂ 3 o at
I-Sxite & /Dc._%_aj)‘o ) / M-

esep et F

e o (D/QQQ(M"OM — ] ™.

c bose O/)ai.m.ﬁ'on L

Q.4

a. Write a program in C to implement bubble sort n integer numbers. t))
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b. Write a C program to implement binary search using single dimensional array.

@®)
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b. Briefly explain a circular queue and write the C implementation of a circular queue
using arrays. t))

Answer:
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/‘/\ 7‘ /ffg'{t (_S}SU()L /Lc)fb 3(7))
{ /N t CL’%(,L/\J[ Sl
lils €8 l=putl)

Ve

(’OLJ-/IJ f.'f‘/'
P o e BE

)C[M oot

[ Corplele prsfon — lom
b. Explain how to merge two sorted singly linked lists. (6)
Answer:
ool - B Pakp - v Feod Lishk e ?O)(
™Me o5y ‘
%
Lol ——anl s sl > VUL
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Q.7 a. With an example explain circular linked list. “4)

Answer:
(,'yc’u,(o& A‘M@\e/ 0. s+
i i'aO’.Jf’{g? Lisk 5 o List rawhichs B Diac pi
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B e T IR

7 g Aist 6 abo shosld be Civedod
G e o o Lo £0 CHOP f’j,
: L o n

3

To A =

: . ~»<] g Rt
e L:/\AVJL:) v ko <1"'éid Soeiais &
kiaph A
e ) e \/‘?\_f\:f-_,(
LT3 ~E15—1]
Heaclv raods
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b. Briefly explain the following: (12)
(i) Doubly linked list
(ii) How to insert a node in to a doubly linked list?

Answer: (i) Doubly linked list
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(ii) How to insert a node in to a doubly linked list?
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Q.8 a. Define the following: 4)
(i) Tree
(ii) Degree of a node
(iii) Degree of a tree
(iv) Level of a node

Answer:
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b. Find the Preorder, Inorder and Postoder traversal sequences for the following
trees: (6)

Fig.2

Answer:
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c¢. Explain the following operations with respect to a Binary Search Tree. 6)
(i) Deletion of a node with 2 children.
(ii) Deletion of a node with 1 child.

Answer:
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Q.9 a. For the following Fig.3 find the forward and backward path between every pair of
vertices. Is the digraph strongly connected? “4)

Fig.3
Answer_:___il

o B | & B e - S
P o
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<;\,b! 33 Q et f% z _ } = :2
@ > =3 =y Y e
@ -8 B
[ Tk Irale ooy e e

b. What is minimum-cost spanning tree of a graph? Compute the minimum cost
spanning tree of the following graph using prim’s Algorithm. )]

28
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c. Draw the DAG representation for the following expression. “4)
(atb) * ¢ + ((at+b)+c)

Answer:
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